
oęrm
C)
obI
o
c
c)o
@c)

0,0

=
=.F
-rI
=o
-rn
E
o
5

!

i)
TłTz
T

p
vT
=z
-z
E-T
a
c

P9

=

nNmo
=
+mumzc

=
it
=

o) .-l oo (o --:;-;--53;:-3-5-3
rT.? :lĘ8 ól--Et o<l o-c)l3
t-.lEl
l(O

\

I\lśt\t\IFltŚ
d l\s
S\l\

l-\
l}ę

t69

3 t,60 10,52

t 2.64

,/
v

:,

ś

+
ri

\
\

17t

l'\)s,

t97

t,60 I 1,40 1 2,60

(ł(o

s

5_a

\
'/\

śl$
sls

Nz
o
N
mzt

=
.-\
\
Ęsl
Ooa

Ęs\k;

=--.\Oo



\\
Ę(c

śJę

s\
Al

=a-9o \-\J- *>

=

,Ęś

-s

a - ):-c

Oo s
t,bu I 1,26 12,86 ,">

N(ł t,60 1 r,28 1? R8
n_Ęao

Y
.,/

z/ I,
(o

I.S\\
1,58 I 1,32 1 2,90 tgbŁlelgto!!: WL- -r)

ś'R

S) l,bt)
1,60

I lr4d
t 1.58

13,48
,ł rR

l\
-t=

Zób,,

(Ą
\)

\\
s\

q

,60 1 1,60 r 5,20 lł

^
>)

,4

a=30"

qĘ)-

\-
. E-..*
\\
(rrt

\-
\
\)

J !Ó,a

\.t\

360,5

\a\
ss

=s/
,/-ss

t,5

1,5:

t,39

',lł

z,vl

2,64

,,\x
,.t \

lŃ

\l

2
,/l

4

1

L
ł

ś

Oa

\
G\'Nłs,/V/-

lĘ1 ł l,l2 t /,oJ a =24o ls

t Fs

slś
ls-

J66,,

Sr

1,55 I 1,10 1 2,65 a=20" i

--łJE4.!(o'
393,:

t,6J I 7,04 1 2,67

u=40" Y

(ł

408,5

,66 1 1,03 / 2,69

a =i5o )

'/
1.50 \

ll\\\ż>r-H {\\
Ll*r

N*.--\

s.)

--\t\\'\s

d>7ZiHotl
Hlłr
H

(:.
o
ID

Ń|'a.

452,5

Ą.\

ś(\
Ś

%

1,80 0,99 2,79
r-il!'..l r9.('l Ń- lu(Jtl (3

ąl-E-lr
I

a = l7o

\
Ę

!o

(Ą
sł(ł

t88

Gs\s

s
:.:

1,70 t0,8a t 2,50 S
Y

RĄ
<i

"l
rc /u I /,JU J,AA

a:{

ĘElił
SE
tseA,oV=rd
\l s,
Hł=
lr/ F)
a.i 6art|\Ya--ś

tĘ

*
s-

F
-
\J

s

S

\,\

s\
Co

Ń|a.
\J


